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Example

Ladder. A 5.0-m-lovg ladder leavs against a wall at a
point 4.0 m above a cement floor as shown v the
Figure. The ladder is uviform and has

mass m =12.0 kg. Assuming the wall is frictionless,
but the floor is vot, determive

the forces exerted on the ladder by the floor and by

the wall.
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2] Applications to musdes and joints

Force exerted by biceps muscle. How much force “ “ :FM
mustthe biceps muscle exert when a 5.0-kg ball is IR '/ o
held in the hand with the arm horizontal as in the A AW
Fig. a. The biceps muscle is connected to the forearm F, ——— = 4
by a tendown attached 5.0 cm from the elbow joint, | gl . T¢ B
Assume that the mass of forearm and havd —|2 L (20ke)g (5.0kg)2

together is 2.0 kg
and their CG is as showw.
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Forces on vour back. Caleulate the magnitude and
direction of the force acting on the fifth lumbar T
vertebra as represevted in Fig. 4-14b. Fifth  muscles
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9-1] %fabi‘ib and balance
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